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Aggregative Index Numbers

Relative Index Numbers

Simple Aggregate Index

Izgiz*um
2011 2010 2009
4 3 2 ( 1)
14 12 11 ( 1)
28 25 22 1)
50 40 35 )
96 80 70

Pn
L * 100
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1 70 100 = 100
= — % =
09 70
I 80 100 = 114.29
= — % = .
10 70

I o6 100 = 137.14
= — % = .
11 70

37.14 2009 2010 %14.29

.2009 2011

Weighted Aggregate Index

:Laspeyres Index

_XPnQo
Y Po Qo*

: Y. PnQo
: Y Po Qo
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2011

2010

2009

2009

Qo
P2(5) P1 (4) Po (3) (2) (1)
4 3 2 70 ( 1)
14 12 11 10 (1
28 25 22 10 1)
50 40 35 10 )
96 80 70 100
2009
2011 2010 2009 Qo
Qo*P2(5) Qo*P1 (4) Qo*Po (3) () (1)
280 210 140 70 ( 1)
140 120 110 10 ( 1)
280 250 220 10 1)
500 400 350 10
(
1200 980 820 100
146.34 119.51 100
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%19.51 2010 119.51
2011 146.34 2011 2009 2010

.2009 %46.34

:Paashe Index

( )
I = g%gz * 100
: Y PnQn
: Y. PoQn
2010 2009 2010 2009 2010 2009
@) ©) ®& @ @ o "
Qn*P1 Qn*Po Qn Qo P1 Po
195 130 65 70 3 2 ( 1)
240 220 20 10 12 11 (12
250 220 10 10 25 22 (1)
200 175 5 10 40 35 ()
885 745 100 100
118.79
.%18.79 2009 2010
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Ideal Index Number Fisher Index Number

IF = \/I(L).1(P)

_ |2 PnQo N Y. PnQn
~ Y PoQo Y PoQn
119.51 = 2010
118.79 = 2010
I(f) = /(119.51)(118.79) =119.15
.2009 %19.15 2010
Typical year method
PnQt
I = 2 PnQ * 100
> PoQt
0=t it
n=t
Qt
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Marshall - Edgewarth ndex

Y. Pn(Qo + Qn)
= * 100

Y. Po(Qo + Qn)

2010 2009 2010 2009 2010 2009
6
™ ™ 8 ) @ Q) @ @
Po(Qo+Q1) P1(Qo+Q1) Q1+Qo Qn Qo P1 Po
270 405 135 65 70 3 5 ( 1)
330 360 30 20 10 12 11 ( 1)
440 500 20 10 10 o5 90 1)
525 600 15 5 10 40 35 )
1565 1865 200 100 100
119.17
2009 2010 0019.17
relative Index Numbers
Price Relative
P1 Po
(1
Y Pn
I = 100
Y Po *
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2009 12 16 2010
I=224100=133.33
12
2009 2010 %33.33
i
2
Simple Relative Index
[= 1 Pn
"~ nluPo
Pn
3 o
Rn R2 R1 R
I=VR1L.R2.R3..Rn
1/R R 2010 2009
(4) P1(3) Po (2) (1)
0.006667 150.00 3 2 ( 1)
0.009167 109.09 12 11 (21
0.0088 113.64 25 22 ( 1)
0.00875 114.29 40 35 ()
0.033383 487.01

25



1
[ = 1487.01 = 121.75

= 120.741 = V150 * 109.09 * .113.64 * 114.29

=

g
S
| =

[= —% -119.82
0.033383

Weighted Relatives

Po X Qo =

PoXQn =
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PtX Qt=

_ ). Pn/Po(Po Qo)
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(10) (9) a - 2010 2009 2010 2009
RPn(Qo+Qn) Pn(Qo+Qn)
R(P R(P
=R(PnQY) =pnqt ran  R(PoQo) () 1
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R Qo (4)
an P1(3) Po (2)
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- 820 7
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Y PnQt

28



225412.3

e = 12086
.2009 2010 9%20.86
: CHAIN OR LINK RELATIVES ( )
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Time reciprocal
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~ YPoYPn

I_ZPnQo
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YPo Qo
Y PnQn
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:Factor reversal test
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Y PnQn
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Y Po Qo
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:cost of living index

37.64
4.66
6.96

10.38
6.31
4.45
9.86
3.79
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4.84
3.56
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5.37
100.00

100

:The wholesale Price index
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